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Area Formulas : Note: ""ab™ means "a" multiplied by "b". "'a
times "a". (Pi =T =3.14)

squared”, which is the same as "'a

a a

a [ b []
square = a2 I:I rectangle = ab parallelogram = bh

2" means "a

b

bz .
h
trapezoid =h/2 (b +bs)  Be  circle = pir? (i = TT= 3.141592...)
. 1 c one haI!c times the pase
triangle = | —(b#) a h length times the height of
2 e the triangle

Volume Formulas : Note: "ab" means "a" multiplied by "b". "a®* means "a squared”, which is the
same as "a" times "a". "b* means "b cubed", which is the same as "b" times "b" times "b".

Cube = a*®

Pyramid = (1/3) b h N

Sphere = (4/3) pir?

Rectangular prism =abc

» (Pi=3.14)

]'I-II

b

Cylinder=bh=pir?h

N

Cone = (1/3)bh=1/3pir?h

“Get the answer” can also be
stated as Solve, Find,
Calculate, Simplify, What is

Metric Measurements
1 centimetre (cm) = 10 millimetres (mm)
1 metre (m) = 100 centimetres
1 kilometre (km) = 1000 metres

1 kilogram (kg) = 1000 grams (g)
1 tonne = 1000 kilograms

Straight line = 180°

Angles inside a triangle equals 180°
Around a point = 360°

Degrees inside a circle = 360°

Degrees inside foursided shape = 360°

Acute angle is Smaller than 90°

1 litre (1) = 1000 millilitres (ml)

2D SHAPES
O <:> Rectangle
Hexagon Pentagon Triangle
Octagon
3D SHAPES .
Pyramids

1 litre = 1000cm=2
1cm3 = 1 millilitres

Conversion: Decimal Point Moves
Multiplying by 10 w
Multiplying by 100Uw

Multiplying by 1000w U w

Cube Cylinder

Prisms A toblerone box is

a triangular prism ©

Rectangular
Prism

Cone

Square based
Pyramid

Right Angle is Exactly 90°

Obtuse Angle Between 90° and 180°

Straight Line equals Exactly 180°

Reflex angle is Bigger than 180°

Sphere

&K,

Triangular prism

FACES - Flat sides
EDGES - Where two faces meet

right ohtuse
angle I :\ angle

VERTICES - Where three or more sides meet (corners)
Area (how big
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Dividing by 100@ ﬂ h total difference times divided by divided
shape) sum minus multiply into divided cLie straight
Dividing by mooﬂﬂﬂ altogether subtract lots of between angle angle
Perimeter more fewer groups of shared equally
(total plus decrease repeated addition | group
UM distance around how many more product repeated subtract
= 56100 = the shape) increase Angles
e.g. 560.0
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